N =

At

Ab S E M A

—
20118 =04 LB ME =X ~ AE=sT
A SHE =X
A MUTE SH(SHHSSA/LL - ME)
ool =X S (el @
- _ _ N H
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
AHE =X 14,483,840 15,408,582 N924,742
= 3,730,452
= 2,694,098
= 1,732,186
= 6,327,104
AEITHE S (L d/UY - AE) 3,942,428 3,281,155 661,273
= 1,186,202
= 583,790
i 2,172,436
=Xs2 &5 500,850 79,606 421,244
= 8,340
L= 1,668
= 490,842
srgdd = 76,700 13,010 63,690
301 LetEasg 4,900 11,010 26,110
10 HALAHIE &3 4,900 3,010 1,890
Ogg=ssll s 2 MsSUs &t 3,500
- 70,0003 20 1,400
—Z L 70,0003 30 2,100
OLtEHME0S &8 X AE 70,000& 20 1,400
307 GI12+0I A 71,800 2,000 69,800
03 AtSIEtMEZEZ 1,800 2,000 2200
OLI=AXNES S A=A X 1,800,000& 1,800
04 QIZHHALE X 70,000 0 70,000
OIS =AHRHS ALK 70,000, 000& 70,000
JtZ2==2tel 4,250 23,900 A 19,650




Ag=TI T
MBI SH(SEHYSA/UY - ME)
=XT2 5 chol: & 2
- _ NUE &
SH - EB - S(BH) - MBAY - BES arey Siatel ==ET
206 2| 4,250 3,900 350
01 &bl 4,250 3,900 350
OZZAIX 228 DEH2 2 13,0002 *200 % 2,600
OZZALX 28 &bl 7 3,3002 500 1,650
s 3,900 28, 146 ~14,246
= 8,340
= 1,668
2 3,892
101 o121yl 3,900 28, 146 A14,246
= 8,340
= 1,668
2 3,892
04 JAMZRISES 3,900 28, 146 A14,246
O3 BE AL 13,900
—SAI=X IR (1D) 13,900,000 12 13,900
= 8,340
= 1,668
2 3,892
LS| 8 A 4,000 14,550 £10,550
206 2| 4,000 14,550 A10,550
01 T2l 4,000 14,550 £10,550
OUIRADI#A ATHLIE 7l 8,0002 ¥500: 4,000
SABRI(RA) 402,000 0 402,000
401 Al&HIL 20| 402,000 0 402,000
01 Al&l 402,000 0 402,000
OJIUANRYZH BRAALK EXMHY 402,000




S =X
MR Sd(sgae
=Xz =B chel &
& CERI(BI) - MRAR - A 0f &t e 52
—E X H 101,240% 3,951 m 400,000
—d8r=E 1,000,000& *2JH A 2,000
EREPley) 529,411 321,122 208,289
= 93,000
= 436,411
dElls 2S48 24 349,811 321,122 28,689
101 el 31,287 15,840 15,447
04 JIZAHZ2NSES 31,287 15,840 15,447
Octzdsd & 228 = 2R MY 31,287
—Ji=2s 34,9102 *38 200 20,946
o 34,9102 x3% 522 5,446
—4U =2 26,392,000 *14% 3,695
—Ins & et 400,000& 3 1,200
201 2Bt 15,480 6,960 8,520
02 =323l 15,480 6,960 8,520
Ox=d & U 90,0002 «12& 1,080
Octgs&d &J 800,000 x12& 9,600
Ostesd o 2= 400,000 122 4,800
401 AlEHIL 2] 303,044 298,322 4,722
01 Al&HI 301,299 296,900 4,399
OZZ XA 59,000
—g< 600, 0002 *15km 9,000
—JIEt 500,000& *10km* 1004 &H 50,000
OzZY¥ Z&tX 13,000 *660m" x 1104 &H 94,380
Oz, Jt=d 97,9193 *1,000m 97,919
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o o

0¥ iz rx

=

=Xt
N SH(SYoHLLL/YY - AE)
2l XM
o Lo

i
40
]
10

. _ PSREN= =
SH BB S(BH) - MBAY - arey Siate ==ET

QS MA-Q S M A PHE S (ELINE) 13,254 0 13,254
= 10,309
= 2,945

402 BIZHRH=0IH 13,254 0 13,254
= 10,309
= 2,945

01 QIAXEEE 13,254 0 13,254
O=HI2 E ALY 13,254
—2EX EYIHE(3ha) 13,254,0002 13,254
= 10,309
= 2,945

APAR S X 338,482 570,995 ~232,513
= 219,830
= 35,593
= 83,059

401 NEHIL=2OHY] 212,218 405,342 £193,124
= 124,554
= 26,297
= 61,367

01 A& 210,732 402,064 A191,332
O=HI2F ALY 210,732
— XA A7 .22l S (70na) 23,389, 00081 *14! 23,389
= 16,372
= 2,105
z 4,912
—HH0I 2 28 X4 (40nha) 122,710,000% 122,710
= 82,800
= 12,240
= 27,670
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9,099,000&

32,529,000&

21,925,000

1,080,000&

123,600,000& *0.72%

32,885,000 *1.08%
22,165,000 *1.08%

W M

EURLE

H W

9,099
2,437
1,998
4,664
32,529

22,105
3,234
7,190

21,925

6,649
15,276

1,080

840
71
169

1,486
1,486
890
356
240

3,278

AN1,792

402

o

[

=
o
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o
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M

126,264
95,276
9,296
21,692

165,653
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01

O

W
==

v
=

it

I

0x

0 B

= > b

A
=
A
=

FA
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126,264
126,264
27,318

18,318
2,700

165,653

A 39,389




U

0¥ iz rx
o0
v > i

=

X2t
2SS (SN
S

m

0
e
10

i
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Jo

>
12

20
R
12

Ol
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98,946,000&

M

o

6,300
98,946
76,958

6,596
15,392

MW

127,356
44,668
24,806
57,882

132,396

A5,040

401 AIEHIZ 20

MW

127,356
44,668
24,806
57,882

132,396

A5,040

01 Al

03 A&=20HYI

OZHIET A
=]

35,630,000

90,513,000&

36,020,000 *1.08%
91,336,000 *0.9%

EURLE

H

126,143
126, 143

35,630

10,806
24,824

90,513

44,668
14,000
31,845

1,213
1,213
390
823

131,126

1,270

A4,983

VANGYA

o

70,000

50,000
10,000

70,000




S =X
MUTE R (SHSSA/AY - AE)
ZHE =4 k|
SH RS (EA) - MRAY - e e 2
o 10,000
402 2I2tt=E01d 70,000 0 70,000
= 50,000
= 10,000
s 10,000
01 Bl =Ex 70,000 0 70,000
Od=del =58 JIRNE (L) 70,000,000 70,000
= 50,000
= 10,000
o 10,000
SAHE 778,430 96,360 682,070
skt e st 778,430 86,360 692,070
101 o124t 58,510 39,600 18,910
04 JIZtNZ22NHSE+ 58,510 39,600 18,910
OurSAAIEEHA M= & IESH AHS AFAS 27,651
—Ji2s 34,9103« 11 »60& 23,041
—F5d 34,910 x 11«5 1,921
—4U2E 19,201,000 *14% 2,689
O/tAMAIEE X 22| IR AL 20,059
—JI2s 34,9103 28 200 13,964
—=H=d 34,9103 «2& »52& 3,631
—4AEE 17,595,000 *14% 2,464
Ottt s Ao M Matate| QI ALS 10,800
—Jlzs 34,9108 18 =200 6,982
TR 34,9103 18 »52& 1,816
— Xt 34,010x1& 15 524




S AR =R D
A M SH(SYHSLL/YY - AE)
el MEASARY (B9 &2
SA-BY () - HRAY - BES 0f & o4 e HI DS 2
—4UEE 10,554,000 *14% 1,478
201 €er=gl 24,820 3,560 21,260
01 Ab= 22l 7,000 0 7,000
Ourds H=as o0& 0
Ottt 220HHE ALY 03 0
Outrekat HAOIE M SHOIA =24 7,000,000 *14] 7,000
02 =323l 2,820 3,560 AT40
Ot dlles 160,000& » 123 1,920
Ot X2l AP A ZHI 150,000 62 900
03 A2 EH] 15,000 0 15,000
Odterar A=ZX& JHE 15,000,000 * 14 15,000
202 044 3,600 3,200 400
01 SLHAOH 3,600 3,200 400
Ottty r=sgs & 9Es &4 60,000 3% »20& 3,600
206 M= H| 18,000 10,000 8,000
01 MaHl 18,000 10,000 8,000
O Ao M K& 18,000,000& 14| 18,000
301 LEtE =S 2,500 0 2,500
10 HAIEHIE A S 2,500 0 2,500
Odtekar MAOIEAN w= 500,000& #52] 2,500
307 QI2+0|® 260,000 0 260,000
04 QUZFSHAIE X 200,000 0 200,000
Ottt =M N& 200,000,000 *1J4 & 200,000
05 22t = 60,000 0 60,000




AtE = X1t
MUTE R (SHSSA/AY - AE)
MY AS A chol: & 2
- _ — X H
SN HE -G9S - HRAY - B Ao e 2t
OXISSAI0ISHHI0l 2 (Ar2FAH CEODH 3,000,000& x20H 60,000
401 A &HIL 2048 303,000 30,000 273,000
01 Al&H| 300,000 30,000 270,000
Od0Ll dEes2del 24 Jl= & 300,000, 000& » 14 300,000
04 ALt Al & H| 3,000 0 3,000
Ooxs =&sl &0t 3,000,000& 13| 3,000
402 SI2 X201 108,000 0 108,000
01 St =8 108,000 0 108,000
OftMTHI K& 2,000, 000& *20H *40% 16,000
OAtkar MALY SMRIA(BLUS) 100,000& *1,800kg*40% 72,000
OMAOIEH SIS B 2 500:& *40, 00074 20,000
AAZS MAD|EH X 1,467,045 1,851,304 A 384,259
= 798,215
L= 406,5%
= 262,236
MHEFEXNHA 124,000 683,800 A 559,800
= 66,000
& 19,800
= 38,200
402 I XHE01H 124,000 683,800 A 559,800
= 66,000
& 19,800
= 38,200
01 It EEX 124,000 683,800 A 559,800
OZHIEZ ALY 124,000
—UMSHESSIAA(LE L) 8,000
= 4,000
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SN
X XH .
S Tt

el

M

0
r
10

CHRI(SIH) - NIRAMY -

i
0z
Jo

>
12

2 (A
R
J2H

Ol

==

= 2,000
= 2,000
—UMSHESOIXNA(SE 1501L) 60,000,000& 60,000
= 30,000
e 9,000
= 21,000
—gME ME . AZAE(BHL) 32,000,000& 32,000
= 16,000
S 4,800
= 11,200
— 42 HACCP XX (10HA) 14,000,000& 14,000
= 10,000
= 2,000
= 2,000
—YUERSIBX R (HSE X 10H) 10,000, 000& 10,000
= 6,000
& 2,000
= 2,000
gots 2SI 707,440 282,000 425,440
= 449,720
S 128,860
= 128,860
402 BI2H 201 707,440 282,000 425,440
= 449,720
= 128,860
= 128,860
01 2ItXE8x 707,440 282,000 425,440
SHIE T A 707,440
—UME HESHMES CIACIINE (1) 36,000,000& 36,000
= 24,000
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DIHEHAIE X2 (11IHA)

>

[ X1 (990 A)

33,440,000

30,000,000

540,000,000&

Mok

W H MW M

H W

6,000
6,000
33,440
16,720
8,360
8,360
8,000
4,000
2,000
2,000
30,000
15,000
7,500
7,500
540,000
360,000
90,000
90,000
60,000
30,000
15,000
15,000

M

255,605
162,495
27,934
65,176

15,504

240,101

W

255,605
162,495
27,934
65,176

15,504

240,101
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255,605
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1,400
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18,743

A

1,608
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168,000
112,000
16,800
39,200
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15,400
180,000
120,000
30,000
30,000
180,000
120,000
30,000
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15,504,000&
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O=HIEXZAE
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168,000,000
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44,000,000

A=01&
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S =X
M4BT SH(sglLdsa/dY
oS MaD|eE X& CERE
SA BB S(3) - HRAY - &y e HIDZ2
01 Bl =EEx 180,000 870,000 690,000
O=HIEXAL 180,000
— A9 S5 SSFE(1HL) 0
—MAAEME SHHAEY 180,000,000 180,000
= 120,000
= 30,000
o 30,000
SOLEAIMEE 28 (ZH) 200,000 0 200,000
< 200,000
307 212t01d 60,000 0 60,000
s 60,000
04 QIZFHALE X 60,000 0 60,000
OEHIEXAEY 60,000
—dOILIZAINE & 60,000, 0003 * 141 60,000
= 60,000
401 AIZHI R HHI 140,000 0 140,000
= 140,000
04 A2t AIEH 140,000 0 140,000
OEHIE XA 140,000
—dOILIEAMEE =4 140,000,000% * 14 140,000
= 140,000
SHoIEX & 117,600 229,372 A11,772
= 54,840
= 9,184
= 53,576
SMOIEIS K& 93,600 45,220 48,380
= 42,840
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S AR =X
M M
H

ool =

0
<
0
[
£
ra
0

SA - HE - SR(3) - HRAY - BAS of Bl

x
2
2 (A
R
J2H
0l
N

5,584
45,176

Mok

402 QI2HXHE01M 93,600 45,220 48,380
42,840
5,584
45,176

W

01 BI2tX e 93,600 45,220 48,380
a! A

o 93,600
UK (FE 300H) 77,700,0002 77,700
33,300
4,884
39,516
—HN 2 UK (LB 3T) 15,900,000 15,900
9,540

700
5,660

M

MW

gHIHEHIES 24,000 184,152 A 160,152
12,000
3,600
8,400

W

405 Xt&bF SHI 24,000 177,000 153,000
12,000
3,600
8,400

MW

=

01 Xtak

=5

24,000 177,000 A 153,000
24,000
H 23 (AERX30) 24,000,000& 24,000

12,000
3,600

>
Mo Of
X o>
02 12 Jin

O
W
SN

|
1)
iK%
S

o
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S AR =X
M M
H

el 2WOIZ X2 (ct9: &2
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
[T 1 = 5,40
MEEY S5 (ML - AHE) 5,239,913 4,373,068 866,845
=2 125,819
= 2,694,098
= 577,469
= 1,842,527
MEFE J|gtEs 5,239,913 4,373,068 866,845
= 125,819
= 2,694,098
L= 577,469
i 1,842,527
SAEESAL T4 Y 22 (KHA) 156, 161 289,958 A133,797
101 el 4] 19,981 13,200 6,781
04 JIZHMIZ2XEE =+ 19,981 13,200 6,781
OHdEils =Xl 2| oUF 10,030
—Jl=22 34,9103 »1H+2002 6,982
—F5==H 34,9103 »1H 52 1,816
—4UHEE 8,798,000& *14% 1,232
OHdEils HM=ZY RAS 5,971
—Jl2=s 34,9102 x5 H +30 5,237
—40E2E 5,237,000 *14% 734
Odtyt 52 2 (120HE) 3,980
—Jl2a 34,9103 »1H+100& 3,491
—4HEE 3,491,000 *14% 489
201 Y] 24,800 11,300 13,500
02 235234l 24,800 4,800 20,000

_16_




AtE = X1t
NEEY B (SHHYS CuE
SEFY JlpratE ool H R
= A L EHRI(EIH) - MR AR - Aro e =32
Oditl= 28 MIIe=3 500,000 123 6,000
Ottt s2e MIIR= 2,000,000& ~6& 12,000
Oda TS 2E SEe3a 300,000& x6& 1,800
Ottt s gy dIjotd 2,500,000& =14 2,500
Ottt s2E stiEE = 2,500,000& 14 2,500
206 =Yl 1,650 2,500 A850
01 M=H| 1,650 2,500 A 850
OMEi= ElH 2 3,300& 500 1,650
401 A &HIL 2048 89,730 255,158 AN 165,428
01 Al&H| 89,730 254,040 A 164,310
OMEl= T2& 29,730,000 * 10 & 29,730
OME= =T 3,000& x5,000m 15,000
Oos=Xdsd 45,000
— =552 20,000,000+ 1= 20,000
—=x9 & 2,500,000& *10= 25,000
405 KHaHF SHI 20,000 7,800 12,200
01 XL SSFSHI 20,000 7,800 12,200
OE2BF52E Hl 5,000,000& *2& 10,000
Ottt s 2 e 1,000,000 *108 10,000
M ALK R AN 53,000 128,000 A75,000
402 2I2H X201 53,000 128,000 A75,000
02 CIZ2+CHEM A I 53,000 28,000 25,000
OgLU: 3L 2H XI& 6,625% x2,000ha*4H 53,000
MEMEHOIE Y 1,627,000 571,145 1,055,855
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,139,000

146,000
342,000

401 AIEHIZL 20

M HY OR

,627,000
, 139,000

146,000
342,000

543,000

1,084,000

01 AlZHI
O

]

I
> n

ton
=
=
1L

T
0z
ar
(=]
o

=

03 AIERLC

ton
=
=
R

|
P
T
0z
a2
(=]
nio

1,627,000,000& *0.36%

1,621, 142,000&

M HY o8

,621,142
,621,142

,621,142
,139,000

146,000
336, 142

5,858
5,858
5,858

539,579

3,421

1,081,563

2,437

o
o
09
>
ix
i
0x

=
(e
o

bl

H

101,400
55,440
13,788
32,172

84,435

16,965

101 Q1]

M

80,400
50,040
10,008
20,352

84,435

A4,035

04 J12tHZ

53,600,000

o

80,400
80,400

53,600

33,360
6,672

84,435

24,035
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SA: ME =X
M MEBEY 2L (sl - ME
e MEFY DJ|BE S o A&
- _ NE
S EB O (3) - RN - LS O &t R =2
o 13,568
—EMEf22 e (2Y) 26,800,000& 26,800
= 16,680
= 3,336
= 6,784
301 et A= 3,000
10 AL HIBAZ 3,000
O=HIBT AL 3,000
—528 =&l s 2,000,000 2,000
—=MEf 22 N 1,000,000& 1,000
405 XH&HE SHI 18,000
= 5,400
== 3,780
= 8,820
01 XM =EFHSHI 18,000
O=HIBT ALY 18,000
—AEX I EBAA” 2= 18,000,000& 18,000
= 5,400
& 3,780
= 8,820
AT AlA 1,058,712
= 741,098
& 158,807
o 158,807
101 Q14| 14,600
= 10,920
& 2,340
o 1,340
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SN A ST
By MYEY

2AY BHS(SHHSSM/AY - ME)
CHl MBI JIBIEE (el &
- _ _ XN -
SH-HH . G(BH) - NRAY - BES 0f &k o8 @ﬂ@ HRZ2
04 JIAH2ERSE4 14,600 0 14,600
OZS3IH AL 14,600
L CETEED 14,600,002 14,600
z 10,920
= 2,340
2 1,340
301 LB 1,000 0 1,000
10 BAFAYI 243 1,000 0 1,000
OZS3IHAL 1,000
—gc e D0 (2Y) 1,000,0002! 1,000
401 AIZHIL RO 1,043,112 1,155,977 A 112,865
z 730,178
= 156, 467
2 156, 467
01 Al 1,018,862 1,148,170 £129,308
OZS3IH AL 1,018,862
— YT AIA A AL (3.5kn) 710,574,002 2. 9% 21,247
— AT TN A AL (4kn) 265,038, 0002 *3.73% 9,886
—yE =4 A A& A (15kn) 67.500,0002+5. 11% 3,450
— 94 = A4 (3.5km) 673,054,002 673,054
z 497,402
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= 8,000
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O=HIE At 93,011
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odxt= 1,800
—SIAES AL 150,000& *1CH*12& 1,800
O=&l 2,380
—S20 4| 7,000& x17ZE 20 2,380
202 O4Hl 37,485 37,335 150
01 WA 37,485 37,335 150
OZLH Bl 120,000 & «17H 128 24,480
OZ2/ ¢ 8l 85,000& 17 »9 13,005
203 ¥R =& 4,200 4,200 0
04 RN2SIHRFAH 4,200 4,200 0
ORN2IHRFAHI 350,000& *12& 4,200
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